
Time: 10 Minutes Paper Math 8 (T-3) Total Marks: 10

3rd Month, 1st Week, 3rd Day Exercise 1.21 Complete

 Answer the following questions: (2 × 5 = 10)  
Q.1. Find the principal amount invested by Riaz in a business if he receives a

profit of Rs. 4200 in 3 years at the rate of 10% per year.

 4200  10%  3 


Q.2. Ajmal invested some amount in a business receives a profit of Rs. 27,000

at the rate of 12% per year for 3 years. Find his original investment.

 12%  3  27,000 


Q.3. At what annual rate of price would amount of Rs. 5,800 will increase to

Rs. 7,105 in 3 years, time?

 7105  3  58,00 
Q.4. How long would Rs. 15,500 have to be invested at a markup rate of 6%

per year to gain Rs. 2790.

 6%  15500  2790

Q.5. How long would Rs. 25,000 have to be deposited in the bank at 12% per

year to receive back Rs. 31,000?

 12%  25000  31000


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